Y=E

 

At some point in time, negative numbers have to be used - (x+y)/2 cannot be larger than x+y if all numbers are positive.

 

So, it's a matter of determining where the "Zero point" is - in this case, I was able to start at E, with D being 2, C being 5, etc.  This took 3 tries moving right to left (because Henderson's Hebrewness is rubbing off on me) to discover that "D" is the Zero point.  If E=-2, X=6, then -2+6=4, divided by 2 is 2.  Thus, E=Y.

 

It's pretty quick, as long as you start from the right side.  

 

For my next trick, I will teabag my 6th grade math teacher.

 

Aaron
